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Practice Problems:
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2.) Use the definition of the definite integral to calculate _[?(21'2 -+ Sx)dx.
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3.) Evaluate the indefinite integral I sinS(Bz)cos(Bz);;z‘. =3 _%. LN chj*k
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4.) A car speeds up at a constant rate from 10 to 70 mph over a period of half an hour. lts fuel efficiency

(in miles per gallon) at various speeds is shown in the table. Make left, right, and midpoint estimates of

the quantity of fuel used during the half hour. Round to four decimal places.
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Speed (mph) 110 (20 |30 |40 |50 |e6D |70
Fuel efficiency (mpg) | 15 [ 18 |21 |23 |24 |25 |26
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b ] For example, to calculate the gas used over the first 5 minutes
'—I“ Mg i‘q . . ;
f o—_— - using left  endpoints: 10mpg*(1/12)hr*(1/15)gal/mi=____ gal.
] »l Note: Left endpoints  skip the last data pt and right the first.
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For example, to calculate the gas used over the first 5 minutes
using left endpoints: 10mpg*(1/12)hr*(1/15)gal/mi=___ gal.
Note: Left endpoints skip the last data pt and right the first.
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6.) Let g(x)= I f(2)dt on 2<x<10 for the function f(x) portrayed in the given graph. Given what

you know, sketch a graph of g(x) on the interval.
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7.) Find the volume of the solid obtained by rotating the region bounded by y=x"and y= Jx about
the line x=-1

|
, |+ V--._r*z,rrg (B ) (W= X VA

/2. 1 g
...;x?' + X flx Hx

| by
-:,111'§ X
&

e

Page 5 of 6



JAN-26-2009 MON 01:49 PM HCC BLDG. 15 FAX NO. 206 870 4803 P. 04

8.) Find the volume of the solid formed in the following manner. The elliptical region with boundary
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CUTVE = o -'L =1 1s mtersected with circular cross-sections perpendicular to the ellipse. The diameter
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9.) Find the volume of the solid obtained by rotating the region bounded by y = Jx and y=x-ax

(when a= %(2 —\E)) on 0= x =2 about the x-axis.

Evaluate the integral in terms of . Verify the volume is 114—5” - 227 .
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